3 | FMRAAN (D=H) RF—T / F—FT WYL X 100X 100

System
Products

E%R

Industrial

Manual Swivel (Tilt) Stages / Table Size 100x 100

RERA
Experi-

Manual
Stage

SH10A-RT SH10A-RB SH10A-RS
SH10A-RM SH10A-RL

ey ‘ SH10A-RT $6 Depth 8mm

& 8-M3 Depth 8mm

= M4 Depth 6mm Clamp ®15
-

Handle $28

[ElEn

Rotation

&

=L e *
ATF—=Y )
Motorized - 4
Stage

X-XY &
X+ XY

100
0
0
0

(0.5)

olo|w
(ellejle}e]

? (19.5) (34) @ SH10A-RM @ SH10A-RB

V\Rotation Center \Rotation Center V\Rotation Center

=
O
O

[ElEA

Rotation

95
134

172

ZAR)L
(I=#)
Swivel
(Tilt)
Zz}i 4-for M4 screws/ ?3 o

25— Shaft Length 6mm b LWWM ]
[

XY6 ‘
920
@ - ]

39
[T
)
14.5

O
©
o
TEl
(<)
g
E
(]
IT]
BRI

)
14.7

= 4-for M4 screws/
Bz Shaft Length 6mm
AF= i
V. SH10A-RS
S?ac;;’m ‘ $6 Depth 8mm 4-for M4 screws/ [J90
k| 8-M3 Depth 8mm Clamp 15 Shaft Length 6mm

8-M4 Depth 6mm

HIHEE
Control
Electron-
ics

(34)

Handle $28

ks
%

@
R
4
%%
R

T-9- —
avho-3

(o]
~
Motor O|©|<F|™) T ] % ﬁ
©
(o]

100
90

g
—

Controller —

RS54\ © Ja
Ry IR 22 =
Driver
Box

77U

T=vay
Applica- (19.5)
tion

(19.5)

B oo w
Sellellslis)

(34) @ SH10A-RL

E=T= [ Rotation Center e Rotation Center
RS\

Motor V=
Driver

T-9—
T=I

Motor (] EKOHZU @

Cable W
. ()

12 - ‘

Appendix @|@ . [} EKOpZU @
o] stz

7ot 90 4-for M4 screws
%@ ol

H1— Shaft Length 6mm
Accesso-

M [190 4-for M4 screws
RE Shaft Length 6mm
VAT I

Inspection

System

G-034 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com

(§
8

V=

95

134

39
(]
s

38
38

38
3
©
8




PWR [ 90AD=FH4 K [ 74=b3a71 -0~ g o D @) A2

Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

I}
e SH10A-RT SH10A-RM SH10A-RB SH10A-RS 1 SH10A-RL 2
Model Number
PR
. BFREOER X SH10A-RT-R SH10A-RM-R SH10A-RB-R SH10A-RS-RRR SH10A-RL-RRR
Mirror Model Number
F—7E
Table Size 100mmx*100mm
ESpsk-o HBEI/OZAO—FH/R
Guide Mechanism Cross-Roller Guide
[E|%REE B

Angular Range

+10°

+8°

+10°

+10°(RM), =£8°(RB)

T—IJTAAEVA
Work Distance

95mm=0.2mm

134mm=0.2mm

172mm=0.2mm

95mm=0.4mm

134mm=0.4mm

EERH DR E 0 0 . °
Rotation Center Erfor $0.05mm/+10 $0.05mm/+8 ®0.1mm/+10 $0.1mm/+8
=\ A 0.1°(N\—=%)
Minimum Readout 0.1° (vernier)
1.125°/N\VRIVIEER (RT) | 0.84°//\R)L1EER (RM)
B[] 1.125°/)\>R)VA [ElER 0.84°/)\>RJL1[EER 0.67°/)\>RIV1[EER | 0.84°/N\VRIVIEER(RM) | 0.67°//\>R)L1[EEE (RB)

Angular Motion

1.125°/Handle Revolution

0.84°/Handle Revolution

0.67°/Handle Revolution

1.125°/Handle Revolution (RT)
0.84°/Handle Revolution (RM)

0.84°/Handle Revolution (RM)
0.67°/Handle Revolution (RB)

E—XUMEIME |, . .
Moment Load Stiffness 0.02 arcsec/N-cm 0.06 arcsec/N-cm
IKFMHETE
Load Capacity (Horizontal) 68.6N (7kef) 49N (Skef)
7=t TIIE
Material Aluminum Alloy
S8 Btk
Finish Clear-Matt Anodizing
BE
Weight 1.7kg 3.4kg
BREN AT NURIL
Actuator Handle-Wheel
Sk y
clean 7 AR SH10A-RT-C SH10A-RM-C SH10A-RB-C SH10A-RS-C SH10A-RL-C
ean Room Lubricant Model Number
pepyey
v ’&7”;‘&*@5‘ SH10A-RT-V SH10A-RM-V SH10A-RB-V SH10A-RS-V SH10A-RL-V
acuum Lubricant Model Number

*1

%2

o F—N—FKR—INBIXBEBRRIZEENELA.

SH10A-RSI%. SH10A-RTESH10A-RMOMAEHLETT
Combination of SH10A-RT and SH10A-RM form 2-axes swivel stage model

SH10ARS.

SH10A-RLI&. SH10A-RMESH10A-RBOAEHETY
Combination of SH10A-RM and SH10A-RB form 2-axes swivel stage model

SH10ARL.

RLUTTZLN,

Additional parts cost is not included on Overhaul cost. Refer to page 16 for

further information.

) =27 ) AHHROBRIFKREIC “-C" PRHEXT.

N=2%BRLUTTEL,

Clean room lubricant model has “-C” at the end of model number. Page C-003 for

further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

SHRIC DOV TR

%3

%4

EN—= %5

BFEV. EROMBFICONTIEG-004X—2E2BRB LT,
Refer to page G-004 for Information on Standard and Mirror Symmetry

Configuration.

AANIWAT—IBAEOE—X Y MAMEEO—ILBIEE R T
Moment Stiffness of single Swivel stage is measured in Roll Direction.

"2 ZAROBRIIKREIC -V PHEET.

DEBRLUTTEL,

further information.

FHRICDLVTIXC-003 o BERDODCERICK ) HRDBES R FT

FLSIIEEBETBHVEDETZ.

FHRIC DLV TIZC-003X—

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

We appreciate the product customizing. Contact us for further information.

7Y UICDNTIFO-001RX—=2 BB L TTFEL,

Refer to page0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FHER

27—

Manual
Stage
X-XY
X-XY

NN

[ElEn

Rotation

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

1153
Appendix

G-035



